
Mobility/Immigration1 
In-Class Problem2 

Let’s assume that we have a market for domestic workers parameterized by the labor supply and 
demand equations  𝐿𝑆𝐷 = −20 + 5𝑊 and  𝐿𝐷 =  155− 5𝑊 where W = wage and L = 100’s of workers 
and we observe that the supply of domestic plus foreign workers can be observed through the equation 
𝐿𝑆𝑀 = −20 + 7𝑊.   We also know that these foreign workers each $6.00 per hours (USD) in their native 
labor markets.  In this problem we’re going to assume that firm is in a competitive goods and labor 
market.  How would we think about this sort of problem?  As always, we want to locate equllibria, 
intercepts and form our graphic model in the usual ways3. 
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1 This In-Class Problem is intended to present an abbreviated discussion of the included economic concepts and is not intended to be a full or 
complete representation of them or the underlying economic foundations from which they are built. 
2 This problem was developed by Rick Haskell (rick.haskell@utah.edu), Ph.D. Student, Department of Economics, College of Social and 
Behavioral Sciences, The University of Utah, Salt Lake City, Utah (2014). 
3 For a review of identifying equilibrium, intercepts, graphic forms, tables and elasticities see Evaluating Economic Models Instructional Primer 

Domestic Supply and Demand 

𝐿𝑆𝐷  =  𝐿𝐷  

−20 + 5𝑊 = 155 − 5𝑊  

𝑊∗ = 17.5;  𝐿∗ = 67.5  

Market Supply and Demand 

𝐿𝑆𝑀  =  𝐿𝐷  

−20 + 7𝑊 = 155 − 5𝑊  

𝑊∗ = 14.58;  𝐿∗ = 82.08  

Domestic Supply 

𝐿𝑆𝐷 = −20 + 5𝑊  

If W = 0  | 𝐿𝑆𝐷 = −20 

If  𝐿𝑆𝐷 = 0 |  0 = −20 + 5𝑊 

5𝑊 = 20;   𝑊 = 4  

Domestic Demand 

𝐿𝐷⬚ = 155 − 5𝑊  

If W = 0  | 𝐿𝐷⬚ = 155 

If  𝐿𝑆𝐷 = 0 |  0 =  155 − 5𝑊 

5𝑊 = 155;  𝑊 = 31  

Market Supply 

𝐿𝑆𝑀 = −20 + 7𝑊  

If W = 0  | 𝐿𝑆𝑀 = −20 

If  𝐿𝑆𝑀 = 0 |  0 =  −20 + 7𝑊 

7𝑊 = 20;  𝑊 = 2.85  

WD* = 17.50 

𝐿𝐷 

Wage 

Labor LD*= 67.5 

31 

4 

𝐿𝑆𝐷 

155 

𝐿𝑆𝑀 

2.85 

WM* = 14.58 

LM*= 82.08 



a) With this influx of foreign workers, what is the wage domestic workers would now receive? 

 
 

b) How many domestic workers would be willing to supply their labor at this wage? 

        𝐿𝑆𝐷 = −20 + 5(14.58) = 52.9   

c) How many foreign born workers would be willing to supply their labor at this wage? 
 
𝐿𝑆𝑀 = −20 + 7(14.58) = 82.08− 52.9 =  29.18  
 

d) What does this tell us about the costs of foreign workers moving to this market? 

We may not be able to tell this expressly, but we do know that they were working for $6.00 and now 
can work for $14.58, so the compensating wage differential is $8.58.  This must include ALL of the 
costs of relocating to the new market (tangible and intangible). 
 

e) How might we define the supply curve of immigrant workers in given what we already know? 

We can associate a few basic rules to these supply equations: 

L1 + L2 + … + LN = LS 

W1 = W2 = … = WN = W 

You might recall that these are the same as the rules for private goods because labor is largely a 
private good in that it is rival and excludable. 

With these rules we can say that   𝐿𝑆𝑇 −  𝐿𝑆𝐷 =  𝐿𝑆𝐼     or   𝐿𝑆𝐼 =  𝐿𝑆𝑇 − 𝐿𝑆𝐷 

𝐿𝑆𝐼 = −20 + 7𝑊−  (−20 + 5𝑊) =  −20 + 7𝑊 + 20 − 5𝑊 = 2𝑊  

𝐿𝑆𝐼 = 2𝑊  

 

With these values in mind, we might also consider a few other issues: 

• How is it that we can consider the wage differential between what the foreign born worker 
made in their native labor markets and what they might earn in this labor market as a 
compensating wage differential? 
 

• Does the presence of an immigrant labor force necessarily depress wages for domestic workers? 
 

• What are the relative skill levels of domestic and foreign workers and how might this equate to 
productivity and MRPL?  
 

• Is it necessarily accurate to suggest that foreign born workers receiving less than domestic 
workers represents some form of discrimination? 

WM* = 14.58 


